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T RIS B 42 11 31 10 21
NEIEES 17 12 5 4 1
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ST AR 7 5 2 2
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T R AR 32 1 31 18 11 1 1

Pt A2 510 94 53 41 27 12 1 1
JEBGR 77 15 62 50 5 4 3
P TR 62 6 56 40 7 1 2 6
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(=3 31 10 21 17 4
B T I R 39 16 23 16 7
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AR TH IR 150 33 117 89 21 7
VISTEL S 16 16 11 5
TKERR 31 12 19 18 1
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A% ] - Fith FE S HE 4 4 2 2
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ARt 22— 3 1 2 2
AR 29 7 22 12 9 1
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AT B 3 3 3
R A 3 3 3
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AR 10 10 10
PN A 6 6 5 1
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TSR (HBHAEHS) 6 6 6
TR 7 6 1 1
LR 12 12 12
WG AR 5 5 3 2
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s ] RS 9 9
P R(E] %R 9 8 1 1
THBIAER 5 32 25 20 3 2
ESENN 8 8 8
REZER 5 5 5
e n 4 2 2 2
WAEZBFER 1 1
NFEEER 1 1
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